17 RO

oA ¥R BT B £

PEARE 100 £ B

B 3rd T2
[l H AERE | LERE | AR | AR . -
wlE| gl & ®m R g s THEE THEE REE | EFEEREL t
03 00030000000 315,031 315,031
2P HBUFREEE
P
00 00031000000 315,031 315,031
1 ZHHBUT RS
01 33031000100 116,909 116,909
— AT
01 33031000101 116,909 116,909|— ~ A} B GETHER
TTBUE
— - REEETHEREE:
ANZEE107,847T7C
9,062 T 7T
= REEETHR R R
A0 116,909 F7C
g NEE107,847F 7T
HEE SEF5E29,002T 7T
02 33031000600 24,643 24,643
& BT
01 33031000601 24,643 24,643|— ~ ARHH EIE S B K B
— - REEETHEREE:
AZEE08TIT
FEHE184T5T T
BN 5,960 7T
= REEETHR R R
10 24,643 F7C
15 NFEE208T T
W EBER184T5T T
15 BEHRIES,960 T 7T
03 33031000700 10,250 10,250
SPEESE
01 33031000701 1,350 1,350|— ~ AR HEfEE A E B E
EpE I 1
— - REEETHERERE:
NEE18ITIT
EBELIITIT
SEAEIEOTIT
= REEETHR R R
B0 1,350 T
15 NHBEE1ROTIT
15 EBELIOLITIT
02 33031000702 8,900 8,900|— ~ AFHH HIE R
BEEREETS

100-11




4¢P Rk
oA ¥R BT B £

PEARE 100 £ R | S R

H KA R HIERE | AR

g R G | ERE | EEE | R | et i

= REEHER A
HEHENE 8,900 T 7T

[1]

A THRE F AR ERET
B0 8,900t
151 B BhE8,900F 7T

33031000800 6,631 - - 6,631
BT
33031000801 6,631 - - 6,631|— ~ AR H B iES B HEER
IR
= REETHEEERE:
ANBEE110TIT
HEFESNIT T
BN ER600T 7T

[1]

A THRE AR ERET
140 6,631 7T
WY NEHE110TIT
WY SEREERS,921F T
15| BB E600TIT

33031000900 50,160 - - 50,160
PR
33031000901 50,160 - - 50,160(— ~ AR} H (58 S BEERS
FECER
= AEEEREBE:
ANEE200T T
SEFE49,960T 7T

[1]

A THRE AR ERET
110 50,160 7T
WS NEE200TF7T
BE%Y SEH 49,960 T TT

33031001000 32,706 - - 32,706
EfE
33031001001 32,706 - - 32,706|— ~ AR HEfE L BEEER
T BEEE
= REETHEEERE:
ANBEE140TT
EFE,928T 7T
AN E229,638 T 7T

[1]

A TR AR ERET
1810 32,706 F 7T
WY NEH140TIT
WY SERER2,928 T T
15| BN E29,638F 7T

100-12




£ ¢ B R h
g SRR B FE B £

PR 100 &R H oo prd RS A
H RERE | R | ORI | AR - -
2 O 4 uE THE# ECE hEg | R :
33031001100 66,652 - - 66,652
B E T
33031001101 66,652 - - 66,652 — ~ AFIH EE SR SR
SR EEERS
= REETEEEERE
AZEE100T-7T
FEET,974T 7T
HAREEN 58,578 7T
=~ REFETHEHE FERTLE
BT 66,652 7T
WHl NEE100F7T
A% HEFEET 914FTC
WH RN 58,578 FIT
33031007900 5,400 - - 5,400
E—TEEE
33031007901 5,400 - - 5400(— ~ ARIEEEE—FEES
B—THMHE
= REETEEEERE
TEHE 45,4007
=~ REEFETHESE FERTRE
B0 5,400 F7C
HA%I| FEME45,400F7C
33031009000 1,680 - - 1,680
—FR SR R R
33031009001 1,680 - - 1,680|— ~ AF} H AufE—fR s Rk i
— IR R
#
= REETHEEERE:

st R & 1,680 7T

[1]

AR AR ERES
$Eh 1,680F7T
BEH1| Sl R AR 1,680 TT

100-13




